

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:1 of 7

### ADJUSTMENT ON REPAIR COST FOR VEHICLE NO. GBE 6506T

Qty	Description of Parts	Condition	Estimate By Workshop (\$)	Our Adjusted (\$)
	REPLACEMENT OF PARTS			
1	BONNET	DEFACED	844.50	727.00
1	BONNET CENTRE LOGO	NECESSARY	121.10	98.00
1	BONNET FRONT MLDG END COVER	BENT	14.90	14.90
1	BONNET CENTRE LOGO	NOT NECESSARY	79.90	-
2	BONNET HINGES @\$123.00	N/S BENT	246.00	61.00
8	BONNET HINGES BOLTS @\$6.00	NOT NECESSARY	48.00	-
1	FRONT GRILLE	CRACKED	428.00	428.00
7	FRONT UPPER RADIATOR SUPPORT NUT @\$5.00	NOT NECESSARY	35.00	-
1	FRONT UPPER RADIATOR SUPPORT	TO REPAIR SEE LABOUR	723.00	-
1	FRONT GRILLE LOGO	NECESSARY	55.00	55.00
6	FRONT GRILLE CLIPS @\$5.00	NECESSARY	30.00	30.00
1	BONNET LOCK	BENT	135.00	100.00
1	BONNET LOCK BRACKET	NOT NECESSARY	138.00	-
3	BONNET LOCK BOLT @\$5.00	NOT NECESSARY	15.00	-
1	O/S HEADLAMP	BROKEN	781.90	725.00
3	O/S HEADLAMP CLIP @\$5.00	NOT NECESSARY	15.00	-
1	N/S HEADLAMP	BROKEN	781.90	725.00
3	N/S HEADLAMP CLIP @\$5.00	NOT NECESSARY	15.00	-
1	N/S HEADLAMP BRACKET (YELLOW)	NOT NECESSARY	61.10	-
1	FRONT N/S CLEARANCE LAMP SOCKET	NOT NECESSARY	63.90	-
1	FRONT N/S CLEARANCE LAMP BULB	NOT NECESSARY	51.10	-
1	FRONT N/S DOOR	BADLY DENTED	1,212.50	1,212.50
1	FRONT N/S DOOR TOP HINGE	NOT NECESSARY	181.55	-
1	FRONT N/S DOOR LOWER HINGE	NOT NECESSARY	181.55	-
1	FRONT N/S DOOR CENTRE CHECK	NOT NECESSARY	271.75	-
1	FRONT N/S DOOR INNER LOCK	NOT NECESSARY	371.75	-
1	FRONT N/S DOOR PILLAR	TO REPAIR SEE LABOUR	781.90	-
1	FRONT N/S DOOR INNER LOCK	NOT NECESSARY	571.75	-
1	FRONT N/S CORNER PANEL	CRUMPLED / DEFORMED	371.25	173.00



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:2 of 7

Qty	Description of Parts	Condition	Estimate By Workshop (\$)	Our Adjusted (\$)
1	FRONT BUMPER	BADLY DENTED / TORN	581.90	495.00
8	FRONT BUMPER CLIPS @\$8.00	NECESSARY	64.00	40.00
1	FRONT BUMPER SIDE RETAINER N/S	NOT NECESSARY	166.75	-
1	FRONT O/S EXTENSION CROSSMEMBER	NOT NECESSARY	271.75	-
1	FRONT BUMPER CENTRE REINFORCEMENT	TO REPAIR SEE LABOUR	357.10	-
1	FRONT BUMPER LOWER REINFORCEMENT	BADLY DENTED	381.90	381.90
1	FRONT BUMPER LOWER REINFORCEMENT SIDE SUPPORT O/S	NOT NECESSARY	182.25	-
1	FRONT CENTRE GRILLE	BROKEN	595.00	595.00
1	AIR CLEANER ASSY	NOT NECESSARY	972.75	-
1	AIR CLEANER AIR DUCT, OUTER	NOT NECESSARY	271.75	-
1	AIR CLEANER AIR DUCT, INNER	NOT NECESSARY	274.45	-
1	FRONT WIPER PANEL OUTER GARNISH	NECESSARY	482.75	482.75
1	FRONT WINDSCREEN MOULDING	NECESSARY	271.75	90.00
1	FRONT WINDSCREEN	CRACKED	1,714.45	1,056.00
1	FRONT N/S VIEW STAY AND MIRROR	BROKEN	665.30	480.00
1	FRONT PANEL COWL SIDE N/S	NOT NECESSARY	245.70	-
	LESS 25% DISCOUNT		-	-1,992.51
			16,126.85	5,977.54
	SPECIAL NETT ITEMS			
1	SET FRONT WINDSCREEN SEALANT (SN)	NECESSARY	50.00	50.00
			50.00	50.00
	<u>LABOUR</u>			
	REMOVE THE NECESSARY AFFECTED PARTS, CUT / WELD REAR O/S FENDER, O/S TAILLAMP INNER AND OUTER PANEL, FRONT PANEL COWL SIDE PANEL N/S, REAR OUTER AND INNER PANEL, STRAIGHTEN REAR N/S FENDER, BOTH FRONT AND CHASSIS, FRONT N/S DOOR PILLAR, FRONT PANEL, FRONT N/S WINDSCREEN PANEL AND REPLACE PARTS. INCLUSIVE OF THE REPAIR OF FRONT UPPER RADIATOR SUPPORT, FRONT N/S DOOR PILLAR AND FRONT BUMPER CENTRE REINFORCEMENT.		840.00	600.00
	REMOVE AND REFIT FRONT N/S DOOR PARTS.		150.00	60.00
	PUTTY AND SPRAYPAINT ON ALL AFFECTED PARTS.		1,120.00	700.00



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:3 of 7

Qty	Description of Parts	Condition	Estimate By Workshop (\$)	Our Adjusted (\$)
	REPAIR WIRING AND REWIRE FRONT N/S LOWER PORTION. }		200.00	100.00
	REWIRE FRONT PORTION AND REFOCUS BOTH HEADLAMP BEAMS. }		100.00	-
	REMOVE AND REFIT BONNET COMPONENTS.	NOT NECESSARY	100.00	-
	REMOVE AND REFIT FRONT WINDSCREEN.		150.00	120.00
	VACUUM BOTH FRONT AND REAR WINDSCREEN BROKEN GLASSES.	NOT NECESSARY	20.00	-
			2,680.00	1,580.00
	GRAND TOTAL		18,856.85	7,607.54

RECOMMENDED COST OF LUMP SUM REPAIRS		6,050.00
(TO ITS PRE-ACCIDENT CONDITION)		
(FRONT PORTION)		

Report Ref No. CS3/LPC21008526/R1qf3e2-1

MOHAMMED RASUL BIN MOHD YUNUS

**Automotive Assessor** 

**ANG BRYAN TANI** 

**Automotive Assessor / Investigator** 







51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:5 of 7

### ADJUSTMENT ON REPAIR COST FOR VEHICLE NO. GBE 6506T

Qty	Description of Parts	Condition	Estimate By Workshop (\$)	Our Adjusted (\$)
	REPLACEMENT OF REAR PARTS			
1	BOOTLID	BADLY DENTED	1,950.90	1,441.00
1	BOOT RUBBER	NOT NECESSARY	391.20	-
1	BOOTLID UPPER LOCK	BENT	329.40	284.00
1	BOOTLID CENTRE LOGO	NECESSARY	75.40	75.40
1	BOOTLID 'HIACE' STICKER	NECESSARY	55.10	55.10
1	BOOTLID 'TOYOTA' STICKER	NECESSARY	52.40	52.40
1	BOOTLID CATCH O/S	NOT NECESSARY	32.90	-
1	BOOTLID CATCH N/S	NOT NECESSARY	32.90	-
1	BOOTLID CATCH N/S	NOT NECESSARY	85.00	-
1	BOOTLID CATCH O/S	NOT NECESSARY	85.00	-
1	BOOTLID CENTRE HANDLE	NOT NECESSARY	277.80	-
1	BOOTLID UPPER LOCK CABLE	NOT NECESSARY	120.00	-
1	BOOTLID UPPER HINGES N/S	NOT NECESSARY	80.00	-
1	BOOTLID UPPER HINGES O/S	NOT NECESSARY	80.00	-
6	BOOTLID HINGES BOLTS @\$5.00	NOT NECESSARY	30.00	-
8	BOOTLID SHOCK ABSORBER NUT @\$5.00	NOT NECESSARY	40.00	-
1	BOOTLID SHOCK ABSORBER N/S	NOT NECESSARY	298.90	-
1	BOOTLID SHOCK ABSORBER O/S	NOT NECESSARY	298.90	-
1	BOOTLID REAR NO. PLATE LAMP	NOT NECESSARY	96.00	-
1	BOOTLID TRIMBOARD W CLIPS	BENT / WARPED	228.25	228.25
1	BOOTLID UPPER LOCK COVER	CRACKED	125.25	125.25
2	REAR NO. PLATE LAMP @\$42.00	CRACKED	84.00	84.00
1	BOOTLID OUTER HANDLE	BENT	48.00	48.00
1	BOOTLID 'HIACE' STICKER	NOT NECESSARY	80.00	-
1	REAR WINDSCREEN	BROKEN	1,628.55	1,150.00
1	REAR WINDSCREEN MLDG	NECESSARY	125.25	125.25
1	O/S TAILLAMP	BROKEN	389.90	389.90
4	O/S TAILLAMP CLIPS @\$5.00	NOT NECESSARY	20.00	-
1	O/S TAILLAMP LOWER CORNER (OUTER) PANEL	BADLY DENTED / BROKEN	274.40	150.00
2	O/S TAILLAMP LOWER CORNER (OUTER) PANEL CLIP @ \$5.00	NECESSARY	10.00	10.00



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:6 of 7

Qty	Description of Parts	Condition	Estimate By Workshop (\$)	Our Adjusted (\$)
1	N/S TAILLAMP	NOT NECESSARY	389.90	-
4	N/S TAILLAMP CLIPS @\$5.00	NOT NECESSARY	20.00	-
1	N/S TAILLAMP LOWER CORNER (OUTER) PANEL	NOT NECESSARY	274.40	-
2	N/S TAILLAMP LOWER CORNER (OUTER) PANEL CLIP @ \$5.00	NOT NECESSARY	10.00	-
1	REAR O/S BODY PANEL	BADLY DENTED / CRUMPLED	1,946.90	1,822.00
1	REAR O/S FENDER INNER REINFORCEMENT	SERVICEABLE	482.70	-
1	REAR O/S TAILLAMP (INNER) PANEL	BADLY DENTED / CRUMPLED	290.10	290.10
1	REAR O/S FENDER LOWER AIR VENT	NOT NECESSARY	68.00	-
1	REAR BUMPER	BADLY DENTED	425.70	425.70
1	REAR BUMPER SIDE RETAINER O/S	CRACKED	62.70	62.70
1	REAR BUMPER SIDE RETAINER N/S	CRACKED	62.70	62.70
1	REAR BUMPER BRACKET O/S	BENT	92.40	60.00
1	REAR BUMPER BRACKET N/S	BENT	92.40	60.00
6	REAR BUMPER CLIPS @\$6.00	NECESSARY	36.00	36.00
1	REAR INNER PANEL	BADLY DENTED	827.10	572.00
1	REAR OUTER PANEL	BADLY DENTED	729.50	581.00
1	SPARE TYRE BRACKET	NOT NECESSARY	350.00	-
1	REAR FLOOR PANEL	TO REPAIR SEE LABOUR	1,550.00	-
1	REAR N/S BODY PANEL	NOT NECESSARY	1,946.90	-
	LESS 25% DISCOUNT		-	-2,047.69
			17,082.80	6,143.06
	SPECIAL NETT ITEMS			
1	SET REAR WINDSCREEN SEALANT (SN)	NECESSARY	50.00	50.00
1	SET REAR FLOOR PAN SEALANT (SN)	NOT NECESSARY	50.00	-
1	SET REAR PANEL SEALANT (SN)	NOT NECESSARY	50.00	-
1	SET REAR BUMPER SENSORS (SN)	DENTED / JAMMED	350.00	220.00
1	BOOTLID '5PAX' STICKER (SN)	NECESSARY	10.00	10.00
1	BOOTLID '70KM/H' STICKER (SN)	NECESSARY	10.00	10.00
			520.00	290.00
	<u>LABOUR</u>			
	REMOVE AND REFIT BOOTLID COMPONENTS.		150.00	60.00



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:7 of 7

Qty	Description of Parts	Condition	Estimate By Workshop (\$)	Our Adjusted (\$)
	REMOVE AND REFIT REAR BUMPER SENSORS.		100.00	60.00
	REWIRE REAR PORTION.		50.00	30.00
	REMOVE AND REFIT REAR WINDSCREEN.		150.00	120.00
	REMOVE AND REFIT REAR FLOOR INTERIOR TRIMS, BOTH SIDE GARNISHS AND WIRING TO FACILITATE REPAIR.		300.00	100.00
	REMOVE THE NECESSARY AFFECTED PARTS, CUT / WELD REAR O/S FENDER, O/S TAILLAMP INNER AND OUTER PANEL, FRONT PANEL COWL SIDE PANEL N/S, REAR OUTER AND INNER PANEL, STRAIGHTEN REAR N/S FENDER, BOTH FRONT AND CHASSIS, FRONT N/S DOOR PILLAR, FRONT PANEL, FRONT N/S WINDSCREEN PANEL AND REPLACE PARTS. INCLUSIVE OF THE REPAIR OF REAR FLOOR PANEL.		1,960.00	1,400.00
	REMOVE THE NECESSARY AFFECTED PARTS, CUT / WELD REAR O/S FENDER, O/S TAILLAMP INNER AND OUTER PANEL, FRONT PANEL COWL SIDE PANEL N/S, REAR OUTER AND INNER PANEL, STRAIGHTEN REAR N/S FENDER, BOTH FRONT AND CHASSIS, FRONT N/S DOOR PILLAR, FRONT PANEL, FRONT N/S WINDSCREEN PANEL AND REPLACE PARTS.		2,080.00	1,300.00
			4,790.00	3,070.00
	GRAND TOTAL		22,392.80	9,503.06

RECOMMENDED COST OF LUMP SUM REPAIRS 7,600.00
(TO ITS PRE-ACCIDENT CONDITION)
(REAR PORTION)

Report Ref No. CS3/LPC21008526/R1qf3e2-1

MOHAMMED RASUL BIN MOHD YUNUS

**Automotive Assessor** 

**ANG BRYAN TANI** 

**Automotive Assessor / Investigator** 

